Division par 1 000 (C)

Trouvez chaque quotient.

4,468 -1 000 = 9,4 +1000=
7,47 +-1000 = 2,4865 +~ 1000 =
8,824 - 1000 = 3,86 +-1000 =
545-+1000= 4,57 +-1000 =
1,18 +1000 = 6,17 -1 000 =
3,553 +1000= 2,2979 -1 000 =
1,413 +-1000 = 7,9 +-1000=
7,2+1000= 6+1000=
7,05 +1000 = 8,217 -1000 =
6,792 +1 000 = 1,994 - 1000 =
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Division par 1 000 (C) Solutions

Trouvez chaque quotient.

4,468 -1 000 = 0,004468

7,47 ~-1000=0,00747

8,824 - 1000 =0,008824

5,45+ 1000 =0,00545

1,18 +1000=0,00118

3,553 +1000=0,003553

1,413 +1000=10,001413

7,2+1000=0,0072

7,05+1000=0,00705

6,792 +1 000 =0,006792

9,4 +1000=0,0094

2,4865 +1 000 = 0,0024865

3,86 +~1000=0,00386

4,57 =+ 1000 = 0,00457

6,17 ~- 1000 =0,00617

2,2979 +-1000 = 0,0022979

7,9+1000=0,0079

6 +1000=0,006

8,217 +1000=0,008217

1,994 = 1000 = 0,001994
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